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Table 1  The observe values of indexes
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The Research and Application of Interval Numbers of Three Parameters
Hu Qizhou1 » Zhang Weihua” » Yu Li
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[ Abstract | This paper studied interval numbers of three parameters by using system knowledge. Based on

interval numbers of three parameters, it gave the definition of ideal plan of multiple attribute decision_making

problem with interval numbers of three parameters, by which it gave TPOSIS to multiple attribute decision_

making problem with interval valued weight. Thus it provides another reasonable and effective method for the

multiple attribute decision problems.

[ Key words | multiple attribute decision making; interval numbers of three parameters; TPOSIS



